
 

 

 

 

 

 

 

Mark the letter A, B, C or D on your answer sheet to indicate the word whose underlined part differs 

from the other three in pronunciation in each of the following questions. 

Question 1.  

A. community 

B. bustling         

C. hunt             

D. suck 

Question 2.  

A. creature 

B. notice 

C. statue 

D. actual 

Mark the letter A, B, C or D on your answer sheet to indicate the word that differs from the other three 

in the position of primary stress in each of the following questions. 

Question 3.  

A. rubber 

B. happen         

C. support 

D. climate 

Question 4.  

A. tropical 

B. scenery 

C. embroider 

D. pesticide   

Mark the letter A, B, C or D on your answer sheet to indicate correct answers to each of the following 

sentences. 

Question 5. Mr Phong saw Elizabeth II on T.V,______he  admired so much. 

A. which 

B. whose 

C. that 

D. whom 
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Question 6. _______ light bulbs can help you save money on your energy bills and reduce your carbon 

footprint. 

A. Energy-consuming 

B. Energy-effective 

C. Energy-costing 

D. Energy-saving 

Question 7. We can help the environment by ___________  the lights when we leave a room. 

A. turning on 

B. turning off 

C. to turn on 

D. to turn off 

Question 8. Heavy fines may __________ people from littering in public areas. 

A. prevent 

B. refuse 

C. persuade 

D. punish 

Question 9. Factories are ________ to the environment by producing large amounts of waste and greenhouse 

gases. 

A. damaging 

B. doing harm 

C. having an influence 

D. destroying 

Question 10. _______ the high cost, we decided to buy that expensive smartphone. 

A. Because of 

B. Although 

C. Despite 

D. In order to 

Question 11. By learning English, you can get ________ to a wider educational and career opportunities. 

A. information 

B. access 

C. knowledge  

D. aspect 

Question 12. Kane: I think being a musican will be very popular in the future. - Rosy: ___________. 

A. They're good artists. 

B. That's great music. 

C. Music is fun! 



 

 

D. I don't see it that way. 

Read the following announcement and mark the letter A, B, C or D on your answer sheet to indicate 

the correct option that best fits each of the numbered blanks from 13 and 16. 

We are excited to announce new job openings at our company! We are currently (13) ________ for talented 

individuals to join our Sales team. This is an excellent opportunity to advance your career (14) ________ 

develop valuable skills in a fast-paced environment. Candidates must (15) ________ strong communication 

skills and a desire to succeed. If you are interested, please send your application to hr@company.com. We 

look forward to (16) ________ your applications! 

Question 13.  

A. finding  

B. watching  

C. hiring  

D. looking 

Question 14.  

A. and  

B. but  

C. or  

D. to 

Question 15.  

A. take   

B. make  

C. do  

D. have 

Question 16.  

A. received  

B. have received  

C. receiving  

D. receive 

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following 

questions from 17 to 18. 

Question 17. Put the sentences (a-c) in the correct order, then fill in the blank to make a logical text. 

 My city has been struggling with pollution for a long time. There are many heavily polluted areas in my city. 

___________ 

a. Luckily, the city council decided to deal with it next month in order to improve the situation. 

b. It smells terrible, and people often avoid walking near it. 

c. Among those, the worst is the garbage dump in my neighbourhood. 



 

 

A. b – a – c  

B. c – b – a  

C. a – c – b  

D. b – c – a  

Question 18. Choose the sentence that can end the text (in Question 17) most appropriately.  

A. However, people still continue littering and making the situation more serious.  

B. Besides, they also call the residents for helping them to clean up the areas.   

C. Therefore, the neighbours stay at home and don’t go outside for exercising anymore.   

D. Hopefully, this will encourage more people to take better care of the environment. 

Mark the letter A, B, C or D on your answer sheet to indicate the correct opinion that best fits each of 

the numbered blanks from 19 to 23.   

In the past, there were (19) ________ for pedestrians in the town where I lived. (20) __________ people found 

it challenging to walk and cross the streets without fear. In some areas, there weren't enough sidewalks and 

crosswalks, which made it very dangerous for people (21) __________  around the town. To reduce these 

dangers, the city council (22) __________ cars from driving on some streets at certain times. These rules 

improved these areas for pedestrians (23) __________  they didn't have to worry about getting hit by a car 

while they were walking. The local council also planned to build more sidewalks and crosswalks throughout 

the whole town (24) __________ providing pedestrians with clear pathways and safe crossing points, thereby 

enhancing overall safety. 

Question 19.  

A. majority safe issues 

B. major of safety issues 

C. major safety issues 

D. issues of major safety 

Question 20. 

A. Much 

B. Little 

C. Many 

D. A little 

Question 21. 

A. walk 

B. walked 

C. to walk 

D. to walking 

Question 22. 

A. made rules to stop 



 

 

B. stopped rules to be made 

C. to rules made stop 

D. rules are made to stop 

Question 23. 

A. but 

B. still 

C. however 

D. because 

Question 24. 

A. of the aim with 

B. with the aim of 

C. for the aim with 

D. in the aim on 

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that is closest on meaning to 

the original sentence in each of the following questions. 

Question 25. You won't lose two points on your assignment unless you miss the deadline. 

A. If you miss the deadline, you won't lose two points on your assignment. 

B. You will lose two points on your assignment if you don't miss the deadline. 

C. If you don't miss the deadline, you might lose two points on your assignment. 

D. You will lose two points on your assignment if you miss the deadline.  

Question 26. The villagers were preparing for the traditional festival, and suddenly the rain started. 

A. The villagers were preparing to the traditional festival when it started raining. 

B. The villagers prepared for the traditional festival when it was raining. 

C. The villagers were preparing for the traditional festival when it started raining. 

D. The villagers were preparing the traditional festival when it was starting raining. 

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that is made from the given 

cues in each of the following questions.  

Question 27. He decided become / architect / because / he wanted/work/ a creative field. 

A. He decided to become architect, he wanted to work for a creative field. 

B. He decided becoming an architect because he wanted to work for a creative field. 

C. He decided to become a architect because he wanted to work at a creative field. 

D. He decided to become an architect because he wanted to work in a creative field. 

Question 28. Many people/ travel/ bycicle/ avoid/ spend/ money/ public transport.  

A. Many people travelled by bicycle, avoiding spending money on public transport.  

B. Many people travelled on bicycle avoiding spending money on public transport. 

C. Many people travelled by bicycle to avoid spending money on pulic transport.  



 

 

D. Many people travelled on bicycle to avoid spend money on public transport.  

Read the following sign or notice and mark the letter A, B, C or D on your answer sheet to indicate the 

correct answer to each of the following questions. 

Question 29. What does the sign say? 

 

A. Proper toilet etiquette should be maintained. 

B. Toilet paper is the only item that should be flushed. 

C. Frequent flushing of the toilet is recommended. 

D. Flushing non-toilet paper items is acceptable. 

Question 30. What does the notice say? 

"Interviews will be conducted via video call. Check your email for the link." 

A. You should prepare to attend an interview online. 

B. The interview will be rescheduled by email. 

C. You need to confirm your interview time via email. 

D. You will receive feedback about the interview by email. 

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct 

answer to each of the following questions from 31 and 36. 

In the future, the world of work will change a lot. Many people will work from home because technology will 

allow them to connect easily. This new way of working can help people balance their jobs and personal lives 

better. However, some jobs will still need to be done in an office or a factory. 

Technology, like robots and computers, will help workers with their tasks. Some jobs may disappear, but new 

jobs will also be created. For example, there will be a need for individuals to manage robots and work in 

various technology roles, highlighting the evolving job landscape in the future. 

To be successful in the future, workers will need to learn new skills. This means they should be open to 

learning and trying new things. Good communication skills will also be essential, as teams will collaborate 

online. Embracing change and continuous learning will help workers adapt to the evolving work environment. 

In conclusion, the future of work will be different. People should be ready to adapt and grow in their careers 

to keep up with these changes.  

Question 31. What is the main idea of the passage? 



 

 

A. The world of work will change because of technology. 

B. The future world of work will be the same as today. 

C. All jobs will disappear in the future. 

D. Working from home is not useful. 

Question 32. According to the passage, which of the following skills will be important for workers in the 

future? 

A. Communication skills. 

B. Gardening skills. 

C. Writing skills. 

D. Cooking skills. 

Question 33. Which of the following is NOT true according to the passage? 

A. All jobs will need to be done in an office. 

B. Many people will work from home in the future. 

C. New jobs will be created because of technology. 

D. Robots will help workers with their tasks. 

Question 34. What does the word "adapt" in paragraph 3 most likely mean? 

A. change 

B. create 

C. ignore 

D. follow 

Question 35. What is the opposite meaning of "essential" as used in the passage? 

A. becessary 

B. valuable 

C. useful 

D. unnecessary 

Question 36. What can be inferred about future workers from the passage? 

A. They will need to learn new skills to succeed. 

B. They will not need to communicate with others. 

C. They will only work in factories. 

D. They will only need to work alone. 

Four phrases/ sentences have been removed from the text below. For each question, mark the letter A, 

B, C or D on your answer sheet to indicate the correct option that best fits each of the numbered blanks 

from 37 to 40. 

A. one potential solution is developing better public transportation systems 

B. address the challenges posed by overpopulation in big cities 



 

 

C. As this growth continues, our natural ecosystems may become unsuitable for certain species 

D. Policies encouraging remote work can also play a crucial role by reducing the need for large office spaces 

in city centres and spreading the population across various regions 

Overpopulation happens when the number of people living in a single area, like a nation or city, becomes too 

high. There are various causes of population growth, including better medical care, improved access to food, 

and immigration for better employment opportunities. Over the past century, the global population has 

increased four times despite natural disasters and conflicts. (37) __________. There may be a scarcity of 

natural resources, environmental damage, and people may face unemployment or poverty. 

To tackle these challenges, (38) _____________, such as buses, trains, and subways, to reduce the need for 

personal vehicles and alleviate traffic congestion and pollution levels. Another approach is promoting 

affordable housing in suburban areas to distribute the population more evenly when city centre housing costs 

become too high. (39) _________. Moreover, investing in education about family planning and providing 

access to contraception can help manage population growth by making people more aware of the consequences 

of overpopulation. 

Implementing a combination of these strategies could significantly help (40) _________. 

 

Question 37. ______ Question 38. ______ Question 39. ______ Question 40. ______ 

 

--- THE END --- 

 

 


